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1.afg A, =

1 1
1 IRA, =|g
1 r
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Ny R

¥l
rp
P q
_'Glﬁp#q#r,afAl+A2%

(@ 0 .

(b) TN HATHS

(c) AW HVTHS

(d) qﬁp,q,rﬂﬂm%?ﬁ%ﬁm
AGYT RUMTcHSD

2.3k (@-b)b-c)c-a)=2 3K

a. b &

abc=6 ® W |a® b2 2| @ "A
a bl

TR ?

(@ 3

(b) 12

(c) 14

(d 15

3. Pl % ¥ frr wREdt % e

a b c
b c a
cab

AR LI BT § ?

l.a+b+c=0
2. &+ b +c3=3abc

3.2 +b*+c2—ab—bc—ca=0
T fou T g w1 W@ W wE Iw
gfea .

(@) *ad 1 3R 2
(b) *aw 2 3R 3
(c) Fae 1 3R 3
d 1,233
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4.3TI'5¢1§\T' A=[m n],B%[—n -m] 3R
c=[_”:n] & e ¥ e w
ﬁ?REﬁﬁﬂ'Q:

1. CA=CB
2. AC=BC

3. C(A+B)=CA+CB
I H A FH-G1 /-0 T GE
?/%?

(a) ¥ael 1

(b) et 2

(c) 23R 3

(d 132

2sin@ cosf@ 0
5.9)f A=|-2cos® sin® 0 g
-1 1 1
A(adjd) Tras saqax 2 2
(@) YT T=ge
(b) -1
() 1
@ 2r1
el 1 T qoEHd AR R |

6. k% frm w1 & forg smeg

2cos26 2cos20 6
1-2sin?0 2cos’0-1 3

k % 1
AT § ?
(a) ¥ 0
(b) ¥ 1
(c) ¥ 2

(@) Tt st arafes s
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} 1pg 15451
1.LIfA;=|1 ¢ rlandA,=|q r p
1<r . p rpq

where p#g#r, then A + A, is
(@ 0

(b) always positive

(c) always negative

(d) positive if p, g, r are positive else
negative

. If (a—b)(b—c)(c—a)=2 and abc =6,

then what is the value of

. Under which of the following condi-

tions does the determinant

a b c

b c¢ al vanish ?

calb

l.a+b+c=0

2. @ +b¥+ = 3abe

3.2 +b+c2—ab—bc—ca=0

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only'
(c) 1 and 3 only
(d 1,2 and 3

4. Consider the following in respect of

the matrices :

A=[m n], B=[-n —m]'de=[m]

1. CA=CB
2. AC=BC
3. C(4+B)=CA+CB

Which of the above statements is/are
correct ? ;

(a) 1 only
(b) 2 only
(c) 2and 3
(d 1and?2

2sin@ cos@ 0v

LIf A= —2cos@ sin@ 0|, then

-1 1 1
what is A(adjA4) equal to ?
(a) Null matrix
() -1
) I
d 21
where I is the identity matrix.

. For what value of k is the matrix

2c0s20  2cos20 6
1-2sin?0 2cos’6-1 3
k 2571

singular ?

(a) O only

(b) 1 only

(c) 2 only

(d) Any real value

A - SDFR-S-HTM



7. 9F AT 4 TF FoEAviig AegE
IR B=adid | fmafafea & A
FH-A1/AT-¥ T qE /8 ?

1. AB = BA

2. AB T&F AfW Ioge
3. AB U&F @ I T Wkl §
A fou T Fe M oWE W TE IW
gfag

(@) *ad

(b) a1 3K 2

(c) a2

d 1,23R3

8. @ FIfE & Ff smegEt 4 IR B ¥
don & fraffea st ® few
Ffrg

1. afs ABTH Y g ®, a4 3R
BH ¥ #9-8-F° dE & YA
AR ©

2. afg AB TH TEHE AIE ®, A
BA=AB ®

I ¥ ¥ FH-T1/FA-Y U R
/%7

(a) Sae 1

(b) *ae 2

(c) 13R 23l

(@ qAdM 1,782

9.3f 4, M 3 & T dEHS IR
? dR B e wRad § @ smeE
C=A+B % R &1 77 1 § ?
(@ 1
(b 2
(c) 4
d 8
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11.

12.

A TR 30 ThR § 76 4B = 4
IR BA=B R | Feafafes §
FH-A1/H-] g7 GG 2/ ?

1. A>=4

2. AB*=4?B
= fou T Fe W ER W TR IW
gfv
(a) &
(b) Fa 2
(c) 132t
(@ A L,TIR2
(1+%)9(1—%)9% R ¥ R W
g7
(@ 9

() 10
(c) 19

(d 20

(x+»)°%F WOR & gay § fafaRea
Fot | fer fifsg .

1. W& % wht et F ¥ 67w F
- NS A Srfiean @

2. deR W T, 9F ug F v

% SR ©

IEH A A HE-91/FH-A F97 a8
R/%?

(a) Sad 1

(b) & 2

(©) 1aﬁzza=ﬁ

(d TA 1,982



7. Let A be a non-singular matrix and
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B=adjA. Which of the following
statements is/are correct ?

1. AB = B4
2. AB is a scalar matrix
3. AB can be a null matrix

Select the correct answer using the
code given below :

(@ lonly

(b) 1 and 2 only
(©) 2 only

(d 1,2and 3

. Consider the following statements in

respect of square matrices 4 and B of
same order :

1. If AB is a null matrix, then at least
- one of A and B is a null matrix.

2. If AB is an identity matrix, then
BA=AB.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

. If 4 is the identity matrix of order 3

and B is its transpose, then what is the
value of the determinant of the matrix
C=A+B?

(@ 1
() 2
(c) 4
@ 8

10. Let 4 and B be non-singular matrices

of the same order such that AB = 4 and
BA=B. Which of the following
statements is/are correct ?

1. A%=4
2. AB>=A’B

Select the correct answer using the
code given below :

(@ 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

11. How many terms are there in the

9 9
expansion of (1+ 2) (1—2) ?

x x

@ 9
(b) 10
© 19
@ 20

12. Consider the following statements in

respect of the expansion of (x +y)!%:

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

. 2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - SDFR-S-HTM



13.

14.

afe C(3n, 2n)=‘C(3n, 2n-7) &, @
Cln, n—5) W9 FT & ?

(a) 42
(®) 35
(c) 28

@ 21

C(51, 21) - C(51, 22) + C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +

C(51,27) - C(51, 28) + C(51, 29) —

C(51,30) & |E T § ?
@@ C(51,25)

(b C(51,27)

 (© C51,51)-C(51,0)

15.

16.

d C(51,25)-C(51,27)

300 31X 400 F == #, et foreeht forem
e € fme @ @ oF gew
T B B ?

(a) 32
(b) 36
(c) 40
(d) 45
¥ ‘TIGER’ & &’ & W fFaw

e € o =) W Rl | T IR
Bl ?

SDFR-S-HTM - A
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(@ 72
(b) 36 -
(c) 18

@ 12

17.

18.

19.

HE Fﬁ'ﬁl’[{ a 3R i FHIET
x2+px+g=0%F 7@ B | A o3 3k
B2, 'H"ﬁTRUTx_2+mx+n=O ﬁi‘f-l%,
WA m+nH W TR ?

(@ p’+4¢+pq

(b) p*+¢*-pq

() P’+¢*+3pq

d pPP+4*-3pg

A AT o 3R B, gt
xz—ax—bx+ab—c=0a?‘1§f%|
a8 @-an foama wfeme @ s
a IR bE ? :

@@ P-ax—Pr+af+c=0
(b) x2—ax—[3x+a/3_c=0
() P?+ax+px+af+c=0

(d) x2+ax+[3x+aﬂ—c=0

afs gefie
X—ax—bx—-cx+bc+ca=0% A
WeR €, a Frafafea & @ -
R

@ a+b+c=0
(b) a-b+c=0
) a+tb-c=0
d -a+b+c=0
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15.

16.
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If C(3n, 2n) = C(3n, 2n—7), then what
is the value of C(n, n—-5) ?

(a) 42
() 35

(c) 28

@) 21

What is the value of

C(51,21) - C(51,22) + C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +
C(51,27)-C(51,28)+ C(51, 29) -
C(51,30) ?

(@) C(51,25)

(b) C(51,27)

() C(51,51)-C(51,0)

d) C(1,25)-C(51,27)

How many odd numbers between 300
and 400 are there in which none of the
digits is repeated ?

(a) 32
(b) 36
(c) 40

(d) 45

How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy
the even positions ?

17.

(@) 72
(b) 36
(c) 18
d) 12

Let a and B be the roots of the

" equation x*+px+q=0. If a® and

18.

19.

B? are the roots of the equation
x2+ mx + n =0, then what is the value
of m+n?

@ PP+a+pq

() p*+4’-pg

) PP+q¢>+3pq

@ P’+¢*-3pq

Let a and B be the roots of the equa-
tion x2—ax—bx+ab—c=0. What is

the quadratic equation whose roots are
aand b?

(@ P-ax—-Px+af+c=0
b) *—ax-Px+af-c=0
) #+ax+px+af+c=0
d 2+oax+px+ap-c=0
If the roots of the equation

P—ax—bi-cx +'bc+eca=0

are equal, then which one of the
following ‘is correct ?

(@ atb+tc=0
®b) a-b+c=0
c) atb-c=0
d -a+tb+c=0

A - SDFR-S-HTM



20. 7 AT o IR B (a> B), GHET

21.

22.

23.

X2-8x+g=0F T ¥ |
e a2 - B2=16%, @ g & " T
?7?

(a) -15
(b) -10
(c) 10
@ 15
n & q8 AfUFaw WA w7 R, fas

ferw (301 +351), 57 & fywrsw R, et x
TS g0 e ®© 7 :

(a) 4
(b) 6
© 7
() 8
2(2x1)+3(3%2x1)+4(4x3x2x1)+
o S8 D D S i

9(9x8XTx6x5x4x3x2x1)+2 T AH
TR 7 |

(a) 11!

(b) 10!

(c) 10+10!

(d 11+10!

T 4={1, 2,33 }, A 4 .F um

T (YR de) # foran s@wa
B ?

~ SDFR-S-HTM - A
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(@ 1
(b) 2
(c) 4
d) 8

24. 3% a, b, ¢ IR Aot (GP) F ¥, wret
a>0,b>0,¢>0%, ar Ffafafeg 3

¥ F-Y w2
1. a%, b2, c2 R Aot (GP) & ©

2. 3, 3> % MR Aot (GP) # §

3.&,«/3,\/211%?%@(@)?&%
T T T Fe F W@ W G W
Hfi ‘ :

() Fad 132

(b) wad 2 3K 3

(c) *ae 1 3R 3

(d 1,23R3

25.afg atb 4 b;c‘&’ﬂm it (HP)

2
# g, @ ffafes F & -1 o
€7

(@) a, b, c GATR AV (AP) § &
(b) a, b, c TR AV (GP) # &

(c) a+b, b+c, c+a TURR Hvf}
(GP) ¥

(d) a+b,b+c,c+a@ATR a'Uﬁ(AP)
# €




20.

21.

22.

23.
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Let a and B (a>p) be the roots
of the equation x* — 8x + ¢ = 0. If
a? — %= 16, then what is the value
of g?

@ -15

(b) -10

© 10

@ 15

What is the maximum value of »n such
that 5" divides (30! + 35!), where n is a
natural number ?

(@) 4
() 6
©) 7

d 8

What is the value of
2(2x1)+3(3x2x1)+4(4x3%x2x1)+
SCONER R IN T Y o i i +
9(Ix8xTx6x5x4x3x2x1)+2 ?
(@ 11!

(b) 10!

(c) 10+10!

(d) 11+10!

If A={{1, 2, 3}}, then how many
elements are there in the power set
of 4?

24,

25.

(@) 1
(b) 2
© 4
@ 8

If a, b, c are in GP wherea> 0, 5> 0,
¢ >0, then which of the following
are correct ?

1. a2, b2, c? are in GP

] By B
Z.E,E,EaremGP

3. Na, \b, \c are in GP

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and3

If a;b, b, b;c e

then which one of the following is
correct ?

(@) a, b, c are in AP
(b) a, b, c are in GP
(c) a+b,b+c,c+a are in GP
(d) a+b,b+c,c+qareinAP

A - SDFR-S-HTM



26. cot?15° + tan?15° & W FT § ? 29. afe tan(45°+6) = 1+sin20 ®, S&l

@ 12 -2<0<Z %, W cos20 w1 AW T
() 14 '
) 83 e
@ 4 ®) 3
27. @& frqw 4BC H, &)
sind —cosB—cosC=0 % | | @ 2

o1 B forass ek § 7
30. 9 T sin20=cos36, STl 6 TH

(a)% ‘ - ﬂ;r;a?rw%laalwsinewmw
n O L |
® 7 (w fea mar & £ sin1g =)
© Z @ 3
(b) 2
n
&2 - ' © 5
@ 3
28.uﬁa+p=%aﬁ-<2tana=1%,
af no=-5 8, s
@l tan2p fereeh SR @ 7 31. 71 tan6 = -5 ®, T sind F AT F1
o HRAT B ?
1 .
gt 5 5
(@ E,ﬁﬁj—ﬁaﬁs‘rm
2
(b) 3 X ;
(b) _ﬁ1ﬁﬁﬁﬂﬁ@m
3
{©). =
2 (©) 3 s -2
@ 32 : |
5 (d) STE & § B T

SDFR-S-HTM - A 10
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26.

217.

28.

Courtesy: UPSC

What is value of cot?15° + tan?15° ?
(a) 12

(b) 14

) &3

d 4

In a triangle 4BC,
sind — cosB —cosC = 0.
What is angle B equal to ?

(@)

z
6

(®)

L]

©)

w|y

d

z
2

Ifa+p= % and 2tana = 1, then what
is tan2f3 equal to ? :

W |

(@)

W[

(b)

AW

(©)

@

Wn|Ww

11

29.

30.

31.

If tan(45°+0) = 1+sin20, where

_%< 0 <.2£ , then what is the value of

cos26 ?

@ 0

(b)

N |

) 1
@ 2

Let sin20=cos36, where 0 is acute
angle. What is the value of 1 + 4sinf ?

\/g—l)

(given that sin18° =~

(a) \3
(®) 2

(c) \5

@d 3

If tan0=—%, then what can be the

value of sinf?
(a) 15—3 but cannot be —%
(b) —% but cannot be %
(c) % or —1—53

(d) None of the above

A - SDFR-S-HTM



7 57 35.#«' F AT 0T 60° ¥ aRaffa
32. cos4T”+cos4—87£EFrm=f3qT%? @E‘(&:W ’ v .-
BT x Hiex =l B ot @ | 3l e

3
@ 3 6 I 3x e B, @ Freferfaa &
-9 qEr ® ?
3
iy @ 0<6<30°
© % (b) 30°<6<45°
(c) 45° < 0 < 60°
@ =
@ 60° < 6 < 90°
33. sin®( 2 +6|-sin?| Z-0 Ly g >
(§v0)- (-0 s6.9% (L) vu{(2) o3 4, e
TR 0<x<6%, arx foras swer 8 ?
(a) sin26 @ 1
. (b) cos26 by 2
(c) 2sinf@ Ao
(d) 2cosé
@ 5

34.@3&&2@(@@%3%« »
TSl ® IR F IR h = N TE 37.afg 3sin"'x + coslx = 7 ®, Y x fora
EASQUE HEATER WeT § | THae & foret TR © ? :

fig | oo F q@ sk o & (a)o'

JHAT HT A 0. 3R 20 § | TR
& IS TR ? ;
®) 5

(@) hcosO ;
(b) hsing © %
(c) hcos260

1
(d) hsin26 (d) Vel

SDFR-S-HTM - A 12
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32.

33.

34.
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(d

What is the value of

cos? 187?- +cos” é—g /s

N|Ww

(@

Sl

(b)

oo|Ww

(©
=
16

What is sinz(% + 0) - sinz(%— - 0)
equal to ?

(a) sin260

(b) cos26

(c) 2sinf

(d) 2cos6

A vertical tower stands on a horizontal
plane and is surmounted by a vertical
flagstaff of height 4. At a point on the
plane the angles of elevation of the
bottom and top of the flagstaff are 0
and 20 respectively. What is the height
of the tower ?

(a) hcos6
(b) hsin@
(c) hcos20

(d) hsin20

13

35.

36.

37.

©

The shadow of a tower becomes x
metre longer, when the angle of
elevation of sun changes from 60° to 6.

If the height of the tower is \3x metre,

then which one of the following is
correct ?

(@ 0<6<30°

(b) 30° < 6 < 45°
(c) 45° < 6 < 60°
d) 60° < 6 < 90°

4f 1 -fx\_7
If tan (2)+tan (3)—‘4, where

0 < x < 6, then what is x equal to ?

@ 1

() 2
() 3

@ 5

If 3sin~!x + coslx = 7, then what is x
equal to ?

(@ O

N —

(®)

2L
V2

-

d

A - SDFR-S-HTM



38. af¢ tana + tanf=1 — tancvtanB 8, &t

tanatanf=1 8, @ fafafea & &
FNA-91 (@+pf) & #F # ¥ TH WA
?? ’

@z
® 7
© %
@ 5

39.af¢ (1+tan6)(1 +tan99)=2 &, @

tan(100) & |F T § ?
@ 0
() 1
© 2

(d) Iq

40. sin0° + sin10° + sin20° + sin30° + ... +

sin360° H A FT § ?
(a) -1
(b) 0
@1
d 2

SDFR-S-HTM - A
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4. 995 A={1, 2, 3, 4} F &
Juaeaal | fEr g | o}
fram w==a (4) & st € 7
(@ 6
®) 7
() 8
@ 9

42. Q) R<h G=9Al 4 R B & day #
frafafea wot ® fRR $ifvg .
1. x¢(AUB) = x¢A J194aT x¢B
2. x¢(ANB) = x¢A IR x¢B
I # § H-A1/HA- FIT qQ
R/%?
(@) ad 1
(b)) ¥ 2
() 13R23t
(d A L1L,982
43. q s wH=aal 4 3R B & ey #
Frafafaa Fodt ® fmr Aifvo .

1. AUB=ANB 3k 3R e« afe
A=B

2. AAB= ¢ afe 3R Fawt afe 4=B
SE # ¥ F-E/R-R T TR
/%7
(a) *ad 1
(b) e 2
(c) 1323t
(d IR 1,A82



38

39.

40.
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If tana +tanf=1—tana.tanfB, where
tana.tanf#1, then which of the
following is one of the values of

(at+p)?

' n
@ %

(b)

FN ]

©

w|y

@ 5

If (1 + tan@)(1 + tan90) = 2, then what
is the value of tan(106) ?

(@ 0

®) 1

() 2

(d) Infinite

What is the value of
sin0° + sin10° + sin20° + sin30° + ... +
sin360° ?

(@ -1

(®) 0

)1
@) 2

15

41. Consider all the subséts of the set
A={1,2,3,4}. How many of them are
supersets of the set {4} ?

(@ 6
() 7
() 8
@ 9

42. Consider the following statements in

respect of two non-empty sets 4 and B :
1. x¢(AUB) = x¢A4 or x¢B
2. x¢(ANB) = x¢A and x¢B

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

43. Consider the following statements in

respect of two non-empty sets 4 and B :
1. AUB=ANB iff A=B
2. AAB= ¢iff A=B

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - SDFR-S-HTM



4.3 2-5xy+4y2=0 ® A xRy T 46. 1 = | - <
sifia gt wen & @ IN o Wt

HaY R % WR ¥ feffe s w i=-1%7
ﬁ‘ﬂﬁﬁﬁm{; @ 3n
4
1. R &g ©
G =7
2. R Wfia ©
3. R U%W ¢ ' ' © Z

I # ¥ FN-U1/FE-2 w97 G@ @ =
/%7 4
(a) %aa 1 ' 200 :

47. B-l) w1 A (W)

(b) e 2 ( 373 oW
(©) Sad 1 3R 2 I ?

: 1

@ 1,23K3 @ 3

45. Tt W= 4 W Rl o GRU R S (b)%

o frafafea st w fer fiftrg © 1
2.;&Rwﬁa%,a“m—lﬁ’rwﬁa o Rl St e il B .
3.9 R @mmw ®, @ R h 1-%,6%ﬁmﬁ,ﬁﬁn>3%

ﬁﬁ:ﬁ 2-'31_:+3,7%ﬁ“m%,51ﬁn>3%

SRR -1 /FH-] F97 b :

e R : It # ¥ FH-91/FH-¥ F99 98

e 1 3R L

(@ 1 3R 2 ‘ e
(b) a2 #R 3 HE e
(c) ¥aa 1 3R 3 . )1 Merat
@ 1,23R3 (d AN 1,782

SDFR-S-HTM - A 16
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44, Consider the following statements in

; A 1
respect of the relation R in the set IN 46. What is the principal argument of

1+i

of natural numbers defined by xRy if where i =~/-1?
x2-5xy +42=0:
- @ -2
1. R is reflexive - 14
2. R is symmetric (b) —%—
3. R is transitive P
© 7
Which of the above statements is/are
correct ? 3n
_ @ 3

(a) 1 only
47. What is the modulus of

(b) 2 only 200
(B 1) ;

(c) 1 and 2 only 2 2
(d 1,2and 3 @) %
45. Consider the following statements in ) X
respect of any relation R on a set 4 : 2
: : L © 1
1. If R is reflexive, then R is also
reflexive (d) 27
2. If R is symmetric, then R™! is also 48. Consider the following statements :
symmetric i '
3. If R is transitive, then R7! is also o 31 ' iigHie Sy 6, Wimen 2t
transitive

|
2. % +3 is divisible by 7, where
Which of the above statements are 3

>

correct ? e

Which of the above statements is/are
(a) 1 and 2 only correct ?
(b) 2 and 3 only (@) Longy

(b) 2 only

1 and 3 onl

oI e (c) Both 1 and 2
(d 1,2and 3 (d) Neither 1 nor 2

17 A — SDFR-S-HTM
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49. 9 fenfeai # & 5 Reenfeat 6 = dm

. j

foram ol & T o1 T @ @i @
fadw feenfeat it dm @ s @
qF ?

(@ 14
(b 21
(c) 35

(d) 42

.(x+1)2" ¥ WR ¥, 9w @

x
@+ w = AW (T x F
FaE i ¥ e 2) 7

(@ C(2n, n)x
(b) CCn, n—1)x
(c) C(n, n)

d C2n,n-1)

gfe forelt TmiaR Aoft (AP) & wowr 9

 UQT W ANTHRA, Th UIH 11 Wi &

IFTHST & KK ®, o 36F TAH 20
S 1 ANTHA FT © ?

(@) 20
(b) 10
(c) 2

@ 0

SDFR-S-HTM - A
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52.

53.

afy et wwiek doft (AP) #1 5T we
%%ﬁmm’iw%%a’tm
50 UGt T INTHA FT BN ?

(@) 25

(b) 255

(©) 26

d) 265

(1110011), + (10111), forad =R
g7

(@ (101),

(b) (1001),

() (111),

(d (@o11),

.afe x3+y3=(100010111), 3R x+y =

(1111), &, @ x-yP+xy Fra®
R B 7 oot

(@) (1101),

(b) (1001),
(©) (1011),

d (@1111),



49. In how many ways can a team of 5

S1.

Courtesy: UPSC

players be selected out of 9 players so
as to exclude two particular players ?

(a) 14
() 21
(c) 35
(d) 42
; e
. In the expansion of (x+}-) , what is
53

the (7 + 1)th term from the end (when
arranged in descending powers of x) ?

(a) C(2n, n)x
(b) C2n, n—1)x
(c¢) C(2n, n)

d C@2n,n-1)

If the sum of the first 9 terms of an AP 54
is equal to sum of the first 11 terms,

then what is the sum of the first 20

terms ?

(@ 20
(b) 10
(cy 2

@ 0

19

52.

If the % term of an AP is 75 and its
10t term is %, then what is the sum of

first 50 terms ?
@ 25
(b) 255
) 26

) 265

What is (1110011), + (10111); equal
to?

(@ (101),
(b) (1001),
(© (111)

(d) (1011),

. If x3+y3=(100010111), and x+y =

(11111),, then what is (x—y)*+xy
equal to ?

(@ (1101),
(b) (1001);
(c) (1011),

(d) (1111)

A — SDFR-S-HTM



55. srafireTat

57

g w 1+(@)’=(ﬂf‘

5x-4y+12< 0, x+y<2,x<0 3R
y> 0 fomrR fifse | freafafea §
Hi-a1 fag wdfs 8 F 2

(@ (0,0

b® 2,4

() -1,4)

@ -1,2)

LB y=[x], xe(-1,1) & Gy H

Frafafea 9t w® far $iftie, wef
[] 9ET¥ quifeh Her © :

1. x=0-5 W T0H Fa&Fdst 0 &
2.98 x=0-5R §ad &

IEE § A P /A-A T TR
/%7

(a) a1
(b) ¥ 2
() 13R 23
(d TA1,7E2

dx dx?

Wmaam%?
@ 3

(b) 2
© 3
d 4

SDFR-S-HTM - A

Courtesy: UPSC
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58. & fedierf word ¥ @ B A =,

59.

60.

S8 werd i form W % e
® 1 afc smen wqrd 100 awt ¥ &m
BT R, @ R (s
o) = 2 ?

In2

@ 100

(b)

In10
© Too
2In2
100

(d)

T f(0)=1- (-1 T A
??

® ©1

® [, 1]

© ©.2)

@ [0.2]

TWEAd Y =4kx IR zE TihEE
(dte| Wew) TR aRag &8F &1 S
24 R THE Q, &l A>O0R | kT HH
TR ?
(@ 1

(b) 2

e () N

d 4



5S.

. 56.

7.

Courtesy: UPSC

Consider the inequations
5x—4y+12<0,x+y<2,x<0 and
y>0. Which one of the following
points lies in the common region ?

@@ (0,0
(b) (2,4
©) 1,4
@ 1,2
Consider the following statements
in respect of the function y=[x],

xe(-1,1) where [.] is the greatest
integer function :

1. Its derivative is 0 at x=0-5
2. It is continuous at x =0

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

What is the degree of the differential

d
g dy ’ d*y)3
equation 1+(E) =(;§— i

(@

N ows

(®)
(©)
d 4

w

21

58. A radioactive substance decays at a
rate proportional to the amount of
substance present. If half of the
substance decays in 100 years, then
what is the decay constant (propor-
tionality constant) ?

(a)

)

In10

© oo

2In2
100

@

59. What is the domain of the function

F@=A1-Gx=1 2
@ © 1)
®) 1, 1]
© ©2)

@ [0, 2]

60. The area of the region bounded by

the parabola y? = 4kx, where k > 0 and
its latus rectum is 24 square units.
What is the value of £?

@ 1
(b) 2
© 3
) 4

A - SDFR-S-HTM



7} , 64. [ X dx frar suec ® ?
61. fo s foras SR & 7 =

+cosx)2 gl

(a) -2

(a) -% (b) -1

(© 1

® 5 @ 2
@1 | 65, sindx + 20 ¥ TR o /8, Wi

0<x< % T

@ % @ 1

(b) 2

62. I (sinx)—llz(cosx)-mdx fras aeR .

2o d 8

66. T f(x)=——1 T Hfam

(@) +tanx+c tanx +cotx
mw%,ﬁ%i0<x<%%?
(b) 2+/tanx +c
@ 7
(c) +cotx+c
®) 1
(d) +2tanx+c 2
: () 1
_[_edx o @ 2
sy J-ex+e“ e e +1
AR A T e 67. afe
; ser-s(3)-(se o
W) Ste 3 £ (2) e TR § 7
®) x+c @2
S ®) 1
) In(e*+e™+c © 2
d) In(e*-e®)+c ' d 4
SDFR-S-HTM - A | 22
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61. What is

62.

63.

Courtesy: UPSC

(@

(b)
©

(d)

n
4
. equal to ?
-[o (smx+cosx)2 9

N | =

N | —

[\S][o%}

What is J'(sinx)-m(cosx)_mdx equal

to?

(@
(b)
©

d

If I =I
. e*+e*

Jtanx +c¢
2+/tanx +c¢

cotx +c¢

\2tanx +c¢

e*dx dx

i

and Iz=

then what is I; + I, equal to ?

(@)

(®)
©
)

S dhy o
In(e*+e™*)+c
In(e*—e*)+c

23

64.

65.

66.

- 67.

What is 'Jh

_1 l—;]dx equal to ?

(@ -2

() -1

) 1

d 2

How many extreme values does
sindx + 2x, where 0 <x < -722 have ?
(@ 1

(b 2

(c) 4

@ 8

What is the maximum value of the

function [ (x) = ——b

—————_  where
tanx +cotx’

0<x<%?

@

NG

(b)

©
d

N = -

If

4f(x)—f(%) =(2x+-)1?) (u-%),
then what is f(2) equal to ?

@@ 0

(®) 1

() 2

@ 4

- A — SDFR-S-HTM



68. af% f(x) = 4x + 38, A fofof (1) fra
R § ?

(@ -1
®) 0
© 1
@ 2

69.7R ) =1%, @ (I, ) R %ﬁ'{ﬁi
R § ?
(a) -1
® o
) 1
@ 4

70.7'qﬁy=(x")x'§,?ﬁx=1q( Zx_yaarmﬁ
TR ?
@ 3
() 1
(c) 2
@ 4
71. 99 A y =[x + 1], -4 <x < -3, T&T

[.] TR qUIfeh % € | x=—3-5W x
% AT Wy I AFeher T R ?

(a) -4
() 35
(© 3
@ o

SDFR-S-HTM - A

Courtesy: UPSC
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72.

73.

74.

15,

R % = (InS)y, & y(0)=InS &, @
y(1) ferees SR ® 7
(@ O

® 5
) 2n5

(d) 5in5
B f(x) =10 % weaw # Frafafea
R for fifs .

1. S WA (—o0, 00) ©

2. 9% U& Had %o ©

3. 4 x=0R JaHe11a &
IGH WA B T qEH ® 7
(a) Had 13K 2

(b) Fae 23R 3

(c) Fae 13K 3

(d) 1,23R3

lim 3 (cosec x)? o =R & ?

x—0

(@ 0

(®)

) 1
(d) " o Iferea wE ©

DN | =

1' x3—1
im foraes e @ ?

x—la/x -1

@@ 0

(®) 3

() 6

(d) €W o ferea 78




68.

69.

70.

71.

Courtesy: UPSC

If f(x) = 4x + 3, then what is fof°f (-1)
equal to ?

(a) -1
(®) 0
© 1
d 2

If x»)* = 1, then what is %’ at (1, 1)
equal to ?

) 1

(b) 0

(o)1

d 4

If y = (x*)*, then what is the value of .
% atx=12

@ 3

() 1
(c) 2
@ 4
Let y=[x+1], -4 <x<-3 where [.]
is the greatest integer function. What

is the derivative of y with respect to x
at x=-3-5?

(a) -4
(b) -35
(© -3
@ 0

72.

73.

74.

75.

If ‘% = (InS)y with y(0)=1In5, then
what is y(1) equal to ?
@@ o0
®) 5
(c) 2inS
(d) SinS
Consider the following in respect of
the function f(x) =10*:
1. Its domain is (—o0, )
2. It is a continuous function
3. It is differentiable at x=0

Which of the above statements are
correct ?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

What is lim x3 (cosec x)? equal to ?
x—=0
(@ 0
1
®) 5
(c): 1

(d) Limit does not exist

3
What is lim = =1
x—la/x—1

equal to ?
(@ 0
(®) 3
() 6

(d) Limit does not exist

A - SDFR-S-HTM



76ﬁmﬁ«rﬂaaﬁ%ﬁmmﬁw

7

'f(x)——i—”z‘ +6x +5 GIEAH § ?

(@) ¥ (~oo, 1)

®) (1,6)
(c) ¥ (6, )

e x=2 141{11=T-|=rf(x)=%+2mc+1
H FEFAS YA ®, A m+ 8n H AW
;R ?

o) 2

(®) 0

@) 2

78.

(@) I T () & wRwr fuifa
7l foRar S weRan

T y=x I y=x%F 9= &, w
wqaty # wafia &= @ SEwe .
27

(a) laﬁsané

® 5 aﬁsaﬂ%

©) = aﬁsmé

(@ 1 = 5=

SDFR-S-HTM - A

Courtesy: UPSC
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79.

Al xy=4225 R, W&l x AR y gAYl
e €, @ x+y W Fgaw A9

80.

81

82.

(a) 130

(b) 260
() 2113

(d) 4226

THIHOT x% — 2y =01 fefia a=an
27

(@) T WA W@-FA

(b) TH FA-FA

(©) TF Raed-Fo

(@) TF -

.qﬁ ﬁﬁm (—5’ O)a (sz’ lop) 33{

(5¢°, 10g) a1 foig &t &, < pg
HH 1R, T’ p#g © ?

(a) -2

(b) -1

(© 1

d) 2

SH W @1 H aER @ g S feg
(1, -2) & Tl B 3R Srefi R &R
A G ST § ?
@ x+y-1=0
(b) x—y-1=0
(© x+y+1=0

@d x-y-2=0



76.

%

78.

Courtesy: UPSC

In which one of the following intervals

3 2
is the function £ (¥) =£3--% Fe S

decreasing ?

(@ (-, 1) only

() (1,6)

(¢) (6, ) only

(@ (o, 1) U, °°).

If the derivative of the function

f(x)= %+2nx+l vanishes at x =2,
then what is the value of m + 8n ?

(a) -2
(®) 0
ey 2

(d) Cannot be determined due to
insufficient data

What is the area included in the first

quadrant between the curves y = x and
y=x3?

(a) % square unit

square unit

®) %

(c) % square unit

(d)

1 square unit

27

79. If xy=4225 where x, y are natural
numbers, then what is the minimum
value of x+y ?

(@) 130
(b) 260
(c) 2113
(d) 4226

80. What does the equation _x% -2y=0

represent ?

(a) A family of straight lines

(b) A family of circles

(c) A family of parabolas

(d) A family of ellipses

If the points with coordinateé -5, 0),
(5p%, 10p) and (5¢, 10g) are collinear,

then what is the value of pg where
p#q?

(a) -2
(b) -1
) 1
@ 2

81.

82. What is the equation of the straight line

which passes through the point (1, ~2)
and cuts off equal intercepts from the
axes ?

(@ x+y-1=0
®b) x-y-1=0
(© x+y+1=0
d x-y-2=0

A - SDFR-S-HTM



83.

84.

8s.

S g9 A GHIERU T g ST owew
Jqaiy # QT et SR @y -2 =07t
wiawRarg ?

(8) 2+ -2y 1=¢

(b) X +y*+2x+2y+1=0

() ¥*+y*-2x-2y+1=0

d) x2+)y*-4x-4y+4=0

1 (=3, 0) 3R far x-3=0 ™

WA F GHIG FT § ?
@@ y*=3x
(b) x2=12y
© y*=12

@ y*=-12

qegT a2 +2y2=1 & O™ F =
fg@wR?

(@ 1
®) 2

() 2

d 242

SDFR-S-HTM - A

Courtesy: UPSC
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86.

87.

88.

A\ it el B 4BC ft somait
BC, CA 3R AB &t w=zal #A: a, b
R c® | 3l p @ Bt 1 R sk
qaﬂqﬂ%,?ﬁ

p@—za)mn(g)%a%atm% ?
@@ g

() 2¢

(c) 3q

(d 44

Tk WA W@ x+2p+2=0 3R

2x - 3y - 3 = 0% wfereg forg & ot
? | 78 1Y wgaly § R sAqEs

A B | si9:@vel & e Wl &
IR T § ? :

(@) 2

®) 3

©) 4

@ 6

et Wt % srefe Xamd

ax+by+c=03ﬁ'{bx+ay+c=0
TR (@#0,b#0) T ?

(@) ¥ a-b=0
(b) ¥ a+b=0
© a@-5=0

d) ab+1=0



83.

8s.

Courtesy: UPSC

What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—-2=07?

@ x*+y?-2x-2y-1=0
(b) x*+y*+2x+2y+1=0
©) 2+)2—2x-2p+1=0

(d) x*+)y*-4x-4y+4=0

. What is the equation of the para-

bola with focus (-3, 0) and directrix
x-3=0?7

@@ y*=3x
(b) x2=12y
) y*=12

@ »*=-12x

What is the distance between the foci
of the ellipse x2 +2y2=17?

(@ 1
b) 2
ey 2

d 22

29

86. Let a, b, c be the lengths of sides BC,
CA, AB respectively of a triangle ABC.
If p is the perimeter and g is the area
of the triangle, then what is

olp % tan(g-) Saval 167
(@) ¢ |
(®) 2q
(c) 3¢

@ 4

A straight line passes through the
point of intersection of x+2y+2=0
and 2x — 3y -3 =0. It cuts equal inter-
cepts in the fourth quadrant. What is
the sum of the absolute values of the
intercepts ?

87.

(@) 2
(b 3
© 4
@ 6

88. Under which one of the following

conditions are the lines ax+ by +c=0
and bx + gy + ¢ = 0 parallel (a # 0,
b#0)?

' (@) a-b=0 only

(b) a+b=0only

(© a-=0

(d ab+1=0

°
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89. ar x+y=p® fcws e ¥ Fea
W W W@EE F weafag & fogua @
THIGR 1 R, (& p UF arafew
T R) ?

@ x-y=0
(b) x+y=0
© x-y=p

d x+y=p

90.afc &g (x, y) 75 (24, 0) 3K (0, 3q)

AR QY WY S&l a> 08, A
fraffm # - e @ 7

(@ 2x-3y=0

() 3x-2y=0

(c) 4x-6y+5a=0

(d 4x-6y—5a=0
e W (03) e & fog feafafea w
ﬁ?ﬂiﬁﬁl’({
AT 6x+hky+3z-12=0, &l k=0 %,
Fcuis et @ AW 4, B 3R CWR s

R | 3@feg 3R 4, B, C & ToRA 9 M &
T x2+)2 +22-2x—3y—4z=0% |

91. kSR AR FTE ?
(a) 3
(b) 4
(© 6
d 12

SDFR-S-HTM - A
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92. e p 7t ¥ Fg | THAA R w=Ea gl
?, @ Freafofea # @ S-ma@ R 2

@@ 0<p<05

() 05<p<1

(€ 1<p<1s5

d p>15

93, @i R M F Iy A TRA AR

@ T w1 g ?
@@ x=y=z

(b) 2x=3y=4z

(c) 6x=3y=4z

d) 6x=4y=3z

T X (02) 9F & forg feafofea w e
Hifvra .
A i w22 Zo) fag

23
(2,3,-6) & o & |

94.mqtﬁséﬁ31ﬁr—ia%ﬁ§-a§wm
€ ? ’

@@ <3,2, 1>
(b) <2,3,6>
). <6, 32>

@ <1,2,3>



89. What is the equation of the locus of the
mid-point of the line segment obtained
by cutting the line x +y = p, (where p
is a real number) by the coordinate
axes ?

@ x-y=0
(b) x+y=0
©) x-y=p
@ x+y=p

. If the point (x, y) is equidistant from
the points (2a, 0) and (0, 3a) where
a > 0, then which one of the following
is correct ?

(@ 2x-3y=0
(b) 3x-2y=0
() 4x-6y+5a=0
(d) 4x—-6y—5a=0
Consider the following for the next three

(03) items that follow :

The plane 6x + ky + 3z— 12 =0 where k# 0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
passing through the origin and 4, B, C is
x2+y2+722-2x-3y—4z=0.

91. What is the value of £ ?
@ 3
®) 4
(c) 6
d 12

Courtesy: UPSC
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92. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is

correct ?
@ 0<p<0S5
(b) 05<p<1
©) 1<p<1s5
@ p>15
93. What is the equation of the line
through the origin and the centre of the
sphere ?
(@ x=y=z
(b) 2x=3y=4z
(c) x=3y=4z
(d 6x=4y=3z

Consider the following for the next two (02)
items that follow :

2x, 2y
i s

the point (2, 3, —6).

Let the plane =2 pass through

z
3
94. What are the direction ratios of a

normal to the plane ?

(8) '<3,:2.1»

(b) <2,3,6>

(c): %6, 3, 2>

d) x1;2,3>

A - SDFR-S-HTM



95.3fc 3@ wHaw TR fswE @l w

96.

97.

CElWRIY & RHCLES MTIp,qﬁTr%,
@qA (p+q+r) fras sTR 7

(@ 10
(b) 11
(c) 12
(d) 13
af 4 + j -3k 3R pi +qj -2k G¥&

afewr €, @ p 3R ¢ F wwEm WM
TH: TR ?

(@) 4,1
b) 1,4

8 2
© 3,2

(d)

wW|N
w|oo

afe ferelt P 4BCS it 4, Batk
¥ fufy aftw waw: @, b #Rk C §
IR G P =1 ¥ R, @ 4G
ferereh SR ® 7

®) 2

© b+

(d

' SDFR-S-HTM - A

Courtesy: UPSC
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98, frferfaa wuat w fmr fifv .

1. fewr Ioree, ARy AFeE W
HCATHS ©

3. wiewt =1 wfew TG FETR
BT ©

I H ¥ S-A1/H-8 F9 @
R/%? ‘

(a) &aa 1

(b) e 2

(c) Fad 132
d 1,28R3

99. W g 7, b 3R ¢ dW @R

aRT YR E 5 axb=Cc & | 3=
frafofaa st | faar difso .

Lak b IR 2 Ru m & @ 7
Afedia @ ‘

2% 7 @ b Ry E A 2
it

S S P e vl
R/E?

(@) a1
(b) &ad 2

(¢ 13R23Et

C) a?ﬁl,'«ré’tz



95. If p, g and r are the intercepts made

by the plane on the coordinate axes
respectively, then what is (p+qg+7r)
equal to ? '

(a 10
() 11
©) 12
d 13

96. If 4f+j'—3l€ and pf+qf—2/€ are

collinear vectors, then what are the
possible values of p and ¢ respec-
tively ?

(@ 4,1
(b) 1,4

© %

wIN

@ 3.

w|oo

—y
97. If E’, b, C are the position vectors of

Courtesy: UPSC

the vertices A, B, C respectively of a
triangle ABC and G is the centroid of
the triangle, then what is AG equal
to ?

a+b+¢
g

(b)2——--—

33

98.

99.

Consider the following statements :

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive

3. Cross product of vectors is asso-
ciative :

Which of the above statements is/are
correct ? :

(a) 1 only
(b) 2 only
(c) 1 and 2 only

) 1,2 and 3

—)
Let E’, b, c bg three non-zero vectors
such that @x b = ¢. Consider the fol-
lowing statements :
—d
1. @ is unique if b and C are given
- . 2 D 22 :
2. ¢ is unique if @ and b are given

Which of the above statements is/are
correct ?

(a) _1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM



100. 7 sif 7 3Kk b, o T ARy =

101.

102.

TR € [a-bl<2 21 AR THK B
& o= o1 7 20 R, @ Fefofea 73
F-4T GEl § ?

(a) ¥ad 0<sinf<1

e
(b)érera 2<smO<2

(c) Fad —1<sinf<0

(d -1<sinf<1

1,2,3,4, 5% ¥ Q 3% g% &9 A
1 I § 3R IE TH-GR 4 o fn
AT ® | 36 S A A i @ f6
39 VS 6l S 3 0 AT ?

X

@ 15

(b)

-

©

Wi

d

|

@W%WIW(W)%W

i % (Tehergeehl AMQ §Y) o
IR faww 8 | 9% & T Frad fAepren
T a1 © ? '

(a) mmv>wf§m > IgAh
(b) Em > SEEH > HIfEHaRT
(c) wiferam > WA > sgew
(d) Fgas > wifera > "

SDFR-S-HTM - A
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103.

104.

10sS.

i HTcHS V&0 S WERT 368 | afe
3 WOl F ¥ AR VA0 2,2,4,5€, @
AN N R R ?

(@ 4

®) 5

) 7

d 9

@m%ﬁ(ﬁ)%soqﬁmm
w1eq 41 B e wuw e 4 3R 9
AW 48 ?

(a) 50

() 51

(c) 100

(d 102
21, 34, 23, 39, 26, 37, 40, 20, 33,27 %

wrer foem i (wrem @ form )
;e ?

(a) 0-11

(b) 022
) 033

() 044



100.

101.

Let @ and 7; be two unit vectors such
_—)
that |Z)- b|<2. If 20 is the angle
)

between @ and b, then which one of

the following is correct ?

(@) 0<sinf <1 only
ki 1

(b) > < sinf < 2

©

@

only
-1 <sinf < 0 only .

-1 <sinf <1

Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiplied

~ together. What is the probability that

102.

Courtesy: UPSC

the last digit in the product appears
as 0?

1

@ 15

(b)

|-

©

w|N

d

T IN

The frequency curve (assuming uni-
modal) corresponding to the data
obtained in an experiment is skewed to
the left. What conclusion can be drawn
from the curve ?

(a) Mean > Median > Mode
(b) Mean > Mode > Median
(c) Median > Mean > Mode

(d) Mode > Median > Mean

35

103.

104.

The variance of five positive observa-
tions is 3-6. If four of the observations
are 2, 2, 4, 5 then what is the remaining
observation ?

(@ 4

(®) 5

(c) 7

d 9

What is the arithmetic mean of 50

.~ terms of an AP with first term 4 and

105.

common difference 4 ?
(@ 50
(b 51
(c) 100

(d 102

What is the coefficient of mean devia-
tion of 21, 34, 23, 39, 26, 37, 40, 20,
33, 27 (taken from mean) ?

(@ 0-11
(b) 022
(c) 033

(d 044

A — SDFR-S-HTM



I A (03) i & fou fEfafda w
foer difsg - _

100 # & 31k Y AHT & TH G x;, Xy,
x3,...x,,%ﬁﬁiﬂ=ﬁﬂﬂa%ﬁ'qm—20%3ﬁ'(
92 F ¥ FH MY IR AMI F AT &
feraemt = <fisfia @Rt 1402 |

106. WTHT &1 HISA TR ?
(@) 91
(®) 96
(c) 98

@ 99

107. 99 ® ¥ A T T AAN & G &

et o1 <isa avr =1 @ ?
@ 0
(b) 10
() 20

(d) 40

108. afe y F & 31k M T WA F TH=A

& feraemt @ <iSfig I 180 ®, @ y
& OAE T RL?

(@ 80
() 85
© 90
@ 95

SDFR-S-HTM - A
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I @ (03) v & fou feafafea =
(321) R f=R fifsg .

TS FT A 51 BT GRT WTHIH TG Ao
(AP) & €, T wom ug 4 ® 3R @6 3
3%
109. WTHTHT T AT FT 8 ?

(a) 67

(b) 71

() 75

@ 79

110. Wraishi At ATfeT = § ?
@) 79-5

(b) 79

() 785

@ 77

miferenr / 3 U Tt @1 anEa
R ?

111.

(@ -1
(b) 0
© 1

(@ 2



Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x,, x3, .. x, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

106. What is the mean of the values ?
(@) 91
(®) 96
(c) 98

@ 99

107. What is the algebraic sum of the
deviations of the same set of values
measured from 99 ?

(@ 0
(b) 10
(c) 20

» (d) 40

108. If the algebraic sum of the deviations
of the same set of values measured
from y is 180, then what is the value
of y? :

(a) 80
(b) 85
) 90

(d 95

Courtesy: UPSC

Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

109. What is the mean of the ‘mar'ks /4
(a) 67
b) 71
(© 75

) 79

110. What is the median of thé marks ?
@ 795
(b 79
(c) 785

@ 77

111. What is the sum of the deviations
measured from the median ? :

(@ -1
(®) 0
) 1

d 2

A — SDFR-S-HTM



I W= (03) 9 F fog Feafofee
(%21) | fmr Hifvig -

& A (Sfa) F forg 90 smaew € | IR
WEm | THIPRIT NI
I R

- wrawt | f-wramt
€ wea N T
A
34w 18 9
C R
39
= & 36 27
ERLE] |
7w AT G T ve & % R v s
HAWER P e was ¢ 3R T
7% ve & T fom v smdes 1 wreeR

ﬁmwa%m%wsa&maaﬂa%l
112. P(GN T) fred ser &
(a)
(®)
©
@

wmliH Wnw wmiNd -

113. P(G

(a)

)ﬁ&ﬁ?m%?

(®)
©)

[N Qe Qe 9N

@
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114. P(TIE) fras R & 7
(@

1
4

(b)

(ST

©)

Wnw

G

Hlw

I @ (03) v & foo Feafafes <=
(321) R fEr $ifsg .

it samr #, weERE # feRt SR @
difta e &t et i @A 331% ¥

115. 39 a1d S 41 WiidEar § % 6 s
¥ Y79 €9 A 3 FWR 39 AR &
difea e ?

80

(a) 729

10

®) 37

() g

(d)



Consider the following data for the next

- three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

| Number of | Number of
graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience.

112. What is P(G n 7’) equal to ?

@ 1
®) 2
© 3
@ %

113. What is P(G | 7’) equal to ?

@ 2
®) 2
© 3
@ 3
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114. What is P(Tl@) equal to 1.
(a)

7
4

(b)

W=

©

wn|lWw

@

Hlw

Consider the following data for the next
three (03) items that follow :

The incidence of suffering from a disease
among workers in an industry has a chance

of 331-%

115. What is the probability that exactly
3 out of 6 workers suffer from a
disease ?

80
@ 259 _

—
(=]

(b)

o0
e

10
© 223

y 160
@) =9
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116. 50 =Ta <t 71 WAt & % 6 FTRRT
FAFE M@ A fifRaasiar ?

117. 38 9 6 F1 Wifdewar © f6 6 st
T Y q T U FINR 38-0R @
Hifsa 2 ?

SDFR-S-HTM - A
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(@

(b)

©

@

(@)

(®)

©

@

665
729

729

728
729

665
729

653
729

396
729

40

F = (03) wE F fou Fmafafea
IRARAT-sed R foER fifse .

W [0-20

20-40

40-60

60-80

80-100

qIRERAT | 17

ptq

32

p-3q

19

FA IRARAT 1207 | 1A S0 R |

118. p T AR FT & ?

(@ 25

(b) 26
{c) 27

(d) 28

119. g AN T ?

@ 1
(b) 2
(© 3
(d) 4

120. 3¢ 7&F F& F TRARA P K QI
ST, Y AT AT BT ?

(@ 25
(b) 50
() 75
(d) 100



116. What is the probability that no one Consider the following frequency distri-

out of 6 workers suffers from a bution for the next three (03) items that
disease ? follow :
Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100
(@ 2763 Frequency | 17 |p+gq 32 p-3q| 19
The total frequency is 120. The mean is 50.
® = .
729 118. What is the value of p ?
. (@ 25
4
© 553 : (b) 26
(c) 27
L d) 28
@ =3 @

119. What is the value of ¢ ?

117. What is the probability that at least (@) 1
one out of 6 workers suffer from a
disease ? (b) 2
(© 3
728 L
(€)) 759 d) 4
- 120. If the frequency of each class is
(b) 665 v doubled, then what would be the
729 mean ?
25
(on 12 &
729 (b) 50
(c). 735
396 -
@ 72 - @ 100
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SDFR-S-HTM Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

3.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU.SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet . in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is pnnted both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

~ DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD 10O DO SO
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